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Number Sense: Order Decimals

Hundredths Place

Put the numbers in order from least to greatest. Put the letter that goes with the first

number in the first box. Put the number that goes with the second letter in the second box,

and so on. If you put the numbers in the right order, you will solve the joke.

What jam can't be eaten on toast?

A =211
T =122
F =221
A
]
F

R = 127
C = 3.60
I = 3.06
A =490
M = 499

What has four wheels and flies?

- rrOCOX

= 7.87
= 7.70
= 0.01

7.90
9.10
9.19




ORDER OF OPERATIONS CROSSWORD PUZZLE
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24+-(34-14)
1.8 — (1.2 x 0.5)
32+(24+1.2)
3.6—-25+1

3.9+(24+0.6)
0.3 x (0.9 +4.1)
2-(4.8+12)

4.6 +(5.7-3.7)
02+25-0.8
7223+ 1.7)

DOWN
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<
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32+2-0.1
1.6 x2+0.2
22+(24+12)
41-38+1
3—-(1.8+3.6)
0.5 x (2.6 +0.6)
42 +(9.1 —6.1)
4-09x%3
5.8+ (1.2+0.6)
3.6 x(0.4+0.8)



